EARAROBEEIERT — 2 N— IBISH —F

2013517148 (B) 1EI=#5H

m#3%4ﬁi 500ATF U[UET] & ‘ (xfg] £ ‘ [REmE] — |4 (B) 12000 TR
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B t o4 | BKHE— 1:11.1 3-3 35.9| — 6 510 | BB—% (ER)
g [azsHLEz * 5.0 o Lo | ERNEE
LKA R N=IN— B> FoTat— EialllArabaed
o9 JIZERE 1. — . — L1 (ER)
2(gl15 ®YHTARTEA i 56.07k 1(111)3 53 %.1 ° (ﬁ; O ¥ ILix—2
RiRAFINTY B:a4H/E—L ES e
N E AT . - - #IE (EXR)
3 7 24 tw14~J+L [B] 'S 570 ! 1('31/]4)4 53 %.2 18 (5_420) A
L:22-Y>/0-X BityFiliby WA 517
N . N KOEA : - — BEEE (ER)
4 5| @T—I KT H— 5 ;54_0 (11.111/.26) 9-8 36.0 1 ;1_720) ;Jﬁuég?
LA PTG, RF— BiI-LFLFlU— BINE T 7 — L
N . E2HMEE 1. - . - BORAIE (EX)
5 ol rey b B4 2n (11 111/:3) 14-13 | 35.6 4 (4_920) e
L:Fas400 B:T7A/EYY REE R
o — RE 11 = . = HfEE (ER)
6l814| T1TXIvILT 1 5 © 5.0 1(11/12;) - 5.0 s tg? m%mg
LY IINISF— BiZA—bFA R yaiutie)
S — 44 | ERKR— 1:12.1 3-6 37.0| — 8 440 | BEREL (FEX)
717113 F LA vy 56.0 (1 1/4) (+6) EFRE A
REATATv— B:TIL R v b INRAIS
6 | JIEH 1:12.1 1-11 36.3| — 2 480 | /B (RR)
3 6| A¥—b7—H1h # 57.0 ) (ca) | KNI
R:7A7% B:T74—HILRE— () HAa-KL—Ya>AET7
4 5 | BEK(E 1:12.4 9-8 36.8| — 12 | 510 |HUATERE (ER)
9|58/ 7/7 5.0 1 3/) o | M. st
L:r07x BNy )—Fz KALdhism
> 4t 5 | UEMER 1:12.6 12-12 [36.7| — 10 | 462 |/I\HFEA (ER)
EHH X4 agtEbhyF 57.0 1 (o) | HABHIE
RbIHATAF— BTAIHEF b HEF A4S
o= v 4 | HALGAF 1:12.7 12-14 | 36.7| — 7 440 | BAEE (BR)
117 ]12] 732N R — i 54.0 (1/2) 4oy | B s-2ENx
L:¥r/0704 B:Ly RFIXLy KR PEPIS et BN
S o S 112, = . — HEE (FEX)
XL aFNY it 4 & 171%:)7 2-2 37.7 1 <4+728) ey
RFALNTyTIE BiAf S avYFht AE %
RN B EHEZ 112, - . — THBEL (EX)
HA NI "8 X5 fes e Rl et
Rib—=>NNTy K B:vH¥—o T H—L— - I vIN> - T7—LERE
Sy s SEIRER :13. - . = EHEEE (ER)
Iy 4 5 = 1(123)1 7-8 37.6 9 (4_726) o
L:wiNnNygLhTr Bivy¥x-—I7tL HH =Bp
s KTE : - - hNEEFNR (3EH)
@ONFXTLAL o4 = (11.113/.233 15-14 | 37.0 15 (g;) MBI (X
ARZXRN=NN= B:IA 2 H2% milll 5
@ 21 L
£ 47.7-36.2
NA>24 L | 12.5-10.9-11.5-11.7-11.9-12.6
® 1—F—@EBIERL
13—7F-
2ol=5"=
Ja=77= (3,%14) (1,7,13,15) (2,9) (5,8)6(12,11)10,4
43—+ — (3,%14)-(1,7,15) (2,13) (5,9,8)6,11,10(12,4)
[ N5
= 1 1,520 714K 1-15 2,960 e E 1-8 2,520/ JEE 1-7-15 112,670M
B B 1 490 1-7 9,090M B = 1-15 7,040M JEH 1-15-7 410,660/
15 480M 7-15 8,990M B H 1-15 12,030M
7 1,620

ABICOVWTRDTEEERROODE. TR LIV,



